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	2$�8���'. ;�#0� � #� ;�$�(�  �< ��2�$&����% % 2���(�< �1 �'���(#%�'�# �'�� �%#%,
��8�'. �%#/� #. ����#��� �� A �'$��'�%�  �� #$# %.2���;��8��B 0�<� #(�'��� '#'��0�!
��''0����  �< �?� % ��1���< �� ��$&����� �t�! � '��1#$#2�4## �;��%$.�0�� 0�<� #(�'���
'#'��0� ' ��2$#( �0# �#;�0# 2�;�2��%�-?#< ��8�$.����% �)�, �y��

��1��� %�;�$ � � ;�# 3# � '�%�� ;�����/�� ��''#�'��8� 3� �� 3� ��0� ��$& �<
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S�# #2�(� ## '������� �< '%��'�% �#'���� �< '#'��0  �1$-�� #. %�/ �- ��$& #8��,
-� �� � #(�'�#� 3��0�� ��� ���  �<�/�� #� �� � #(�'�#< 3��0 �$. $# �� �< �#'����,
 �< '#'��0 % �.�� '$�(��%  � ;���'��%$.�� 1�$&��8� �����! �� 4�$�'��1��2 � ��''0�����&
�#'���� �� ���% � #.! 1$#2�#� % �;����$�  �0 '0�'$� � �#33��� 4#�$& �0 # #''$���,
%��& %�;��' � '%.2# �� � #(�'�#< 3��0 �#'���� �< '#'��0 #  �;����% �<� � ���$���
�'�� �%$� � %2�#0�'%.2# 0�/�� �� � #(�'�#0# 3��0�0# $# �� �<  �'��4#� �� �< '#,
'��0  �1$-�� #.! �;#'�%��0�< �1�� �%�  �0# �#33��� 4#�$& �0# ���% � #.0#! # ��,
 � #(�'�#0# 3��0�0# #< �#'���� �< � �$�8�%�

��''0���#0  � ����2�� T = [t0, t1] $# �� �-  �'��4#� �� �- '#'��0�  �1$-�� #.

ẋ(t) = A(t)x(t), y(t) = c(t)x(t), t ∈ T, A9B
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8�� x(t) ~ n,%�����,'��$1�4 '�'��. #. % 0�0� � t! � (n×n),0���#4�A(t) # n,%�����,3� �4#.
'����� c(t)  �;����% �  � T � 	2�(#0 %�20�/ �'�& ;���1��2�%� #. ;��� (A, c) #2 Σ � '#'��,
0�  �1$-�� #. (A0, c0) % 3��0� "��1� #�'�  � �' �%� ��2 �'� �� �;;���'#0�4## ���'�%#.
$# �� ��  �'��4#� �� �� 8��;;� G �$�''� C1  � Σ� �$. ���8� %%���0 % ��''0���� #� 0 �,
/�'�%� Σ3 = Σ × C(T,Rn)! �$�0� ��0# ������8� .%$.-�'. �����# (A, c, v), 8�� (A, c) ∈ Σ!
v = (v1, v2, ..., vn) ∈ C(T,Rn)! # �;����$#0 �;������ V : Σ3 → Σ3! ���'�%�-?#� ;� ;��%#$�

V (A, c, v) = (A, ċ+ cA− v1p, ϕ[v]), p(t) = c(t), ϕ[v1, v2, ..., vn−1, vn] = (v2, v3, ..., vn, v1).

�1$�'�& �;����$� #. D(V ) �;������� V '�'��#� #2 (A, c, v) '  �;����% � �#33��� 4#,
���0��  � T 3� �4#�� c(t)� �'$# n,%�����,3� �4#. g(t) = ċ(t)+ c(t)A(t)− v1(t)c(t) ;�# ��,
$�/#� C1(T,Rn×n)! ��  � ������ (A, c, v) �;����$� �;������ V 2! �$. ������8�

V 2(A, c, v) = V (V (A, c, v)) = V (A, g, ϕ[v]) = (A, ġ + gA− v2c, ϕ[ϕ[v]]).

S� # ���4## 0�/ � �;����$#�& $-1�- '��;� & V k �;������� V � �1$�'�& �;����$� #.
�;������� V k �1�2 �(#0 D(V k)� ��0��#0! (�� 0 �/�'�%� D(V n)  � ;�'��� ��;�#0��! �$.
;��� (A, c) ∈ R0

n AR0
n ~ 0 �/�'�%� ��% �0�� �  �1$-���0�< '#'��0 �$�''� n ' 8$���#0#

# %��#� ��0#B '�?�'�%��� ����� v ∈ Cn−1
0 (T,Rn)! (�� ������ (A, c, v) ;�# ��$�/#� D(V n)�

���'& Cn−1
0 (T,Rn) ~ 0 �/�'�%� n,0�� �< 3� �4#�! � ������< ;��%�. ��0;� � �� (n − 1)

��2  �;����% � �#33��� 4#���0�! %����. ~ (n − 2) ��2� # ����! � n,��. ��0;� � �� ~
 �;����% ��

�$. �'�� �%$� #. %2�#0�'%.2# 0�/�� �� � #(�'�#0# 3��0�0# $# �� �<  �'��4#� ��,
 �< '#'��0  �1$-�� #.! �;#'�%��0�< �1�� �%�  �0# �#33��� 4#�$& �0# ���% � #.0#!
# �� � #(�'�#0# 3��0�0# #< �#'���� �< � �$�8�% ��''0���#0  � 0 �/�'�%� D(V n) ���%,
 � #�

V n(A, c, v)(t) = (A(t), 0, v(t)), t ∈ T A5B

# ;�'���#0 �8� ��2 �'� �- �;;���'#0�4#-�
S�'�& h > 0 ~ ��8 �#'����#2�4##� S�$�/#0

τi = t0 + ih, i ∈ (0, 1, ...,M), TM = {τ0, τ1, ..., τM}.

�1�2 �(#0 (���2 xh(τ) ~ n,%�����,3� �4#- �#'���� �< ��8�0� ��% τ ∈ TM # h! � 0 �/�,
'�%� %'�< ���#< 3� �4#� '  ��0��

‖xh‖1 = max
τ∈TM

‖xh(τ)‖

�1�2 �(#0 (���2 Ωh(TM )�
�$. ��/��8� h > 0 2�0� #0 �;������ V (A, c, v)(t)! (A, c, v) ∈ D(V ) ��2 �'� �0 �;���,

����0 Vh : Σh(TM−1) → Σh(TM )! ���'�%�-?#0 ;� ;��%#$�

Vh(Ah, ch, vh)(τ) = (A(τ),
c(τ + h)− c(τ)

h
+ c(τ)A(τ) − v1(τ)p(τ), ϕ[v(τ)]).

S�# 2���  �� ;��� (A, c) ∈ Σ �$. h > 0 ��''0���#0 ��2 �'� �� ���% � #�

V n
h (Ah, ch, vh)(τ) = (Ah(τ), 0, vh(τ)), τ ∈ TM−n, AtB

�� �'#��$& � vh! vh ∈ Ωh(TM−n+1)� �'$# ;�# h > 0 ��2 �'� �� ���% � #� AtB #0��� ���� #�
vh(τ), τ ∈ TM−n+1! �� ' ;�0�?&- ���8� ���� #. �1��2��0 (n×n),0���#4�Qh(τ) #2 n,%�����,
'���� ghk (τ)! τ ∈ TM−n+1,  ����  �< ;� 3��0�$�0�

ghn−k(τ) = h−1[ghn−k+1(τ + h)− ghn−k+1(τ)] + ghn−k+1(τ)A(τ) − vhk (τ)c(τ), A)B

8�� k ∈ (1, 2, ..., n − 1) # ghn(τ) = c(τ).
�$���-?�� ��%��/�� #� �'�� �%$#%��� '%.2& 0�/�� ��2���#0�'�&- ��2 �'� �8� ���%,

 � #. AtB # '�?�'�%�%� #�0 �� � #(�'��� 3��0� "��1� #�'� �$. ;��� (A, c)�

u:



������� �� `MLHQ P>? DGF[ (A, c) IJ Σ LMNELHOM@H HGKIE VIL>G h0 > 0 I γ > 0, VHB
DFI OLEU h < h0 FGJRBLHRBE MFGORERIE �/� ITEEH FGORBTEFRB LUBP?NEEL? O LEAE FEXERIE

vh(τ), τ ∈ TM−n+1� P>? KBHBFBCB n�OEKHBF�LHFBKI ghk (τ)� τ ∈ TM−n+1, k ∈ (1, 2, ..., n − 1),
DBLHFBERR[E DB aBFTM>GT �0�� HGK^E FGORBTEFRB LUBP?HL? O LEAE I det Qh(τ) > γ P>?

OLEU τ ∈ TM−n+1 I h < h0 bBCPG DGFG (A, c) BA>GPGEH KGRBRIVELKB] aBFTB] cFBAERIMLG

(A0, c0)� KBHBFG? BDFEPE>?EHL? aMRKdI?TI

αn−j(t) = lim
h→0, τ→t

vhj (τ), j ∈ (1, 2, ..., n), t ∈ T.

	2 �����0� 9 %�������! (�� ;�'$���%���$& �'�& ��2 �'� �< �;�������% V n
h �;;���'#,

0#����  � $-1�0 �$�0� �� (A, c, v) ∈ D(V n) �;������ V n�

lim
h→0

‖V n
h (Ah, ch, vh)− [V n(A, c, v)]h‖3 =

= lim
h→0

max
τ∈TM−1

‖h−1(qh1 (τ + h)− qh1 (τ)) + qh1 (τ)A(τ) − q̇1(τ) + q1(τ)A(τ)‖ = 0.

� ���$��� ;�#%��.�'. �'$�%#. ��2���#0�'�# ��2 �'� �8� ���% � #. AtB # �$8��#�0
;�'���� #. �8� ���� #. vh(τ) ;�# 2���  �� ;��� (A, c)�
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��''0���#%���'. �1�1?� #� �$�''#(�'��� ;��1$�0� �;��%$.�0�'�# ~ %�20�/ �'�& ;�,
��%��� ;�(�� ��������#� '#'��0� $# �� �< �1�� �%�  �< �#33��� 4#�$& �< ���% � #�
' # ���%�$& �0# ���33#4#� ��0# 2� 2���  �� %��0. #2  �(�$& �8� 1��'�  � ���0# �$& ��
1��' ' ;�0�?&- ��'�( �,;�'��.  �< �;��%$� #� ' 3#�'#��%�  �0# 0�0� ��0# ��2��%� #
2 �(� #.0# #2 2���  �8� 0 �8�8��  �8� 0 �/�'�%��

S���%��#��$& � '���#�'. '#'��0� �1�� �%�  �< �#33��� 4#�$& �< ���% � #� '
��'�( �,$# �� �0# ;��%�0# (�'�.0# �$. �%�'����  �� �4� �# 3� ��0� ��$& �� 0���#,
4� ���� #�� �� ;�#0��� ;���2� �! (�� �4� �# 3� ��0� ��$& �� 0���#4� % �1?�0 '$�(��
 � �$�(���0�� � # '�� �%.�'. ��( �0#! �'$# ���33#4#� �� �� ���� �8� ���% � #.  ���,
�#4���$& �� � �� .. �4� �� '�(� #. ;�(�� ��������#� % 3#�'#��%�  �� 0�0� � %��0� #
;���'��%$.�� '�1�� 1��' % 3�2�%�0 ;��'��� '�%� '#'��0�! ;�'����  �� ' ;�0�?&- ��,
�� #� ��'�( �,$# �� �� '#'��0�� � �� -- �4� �� 0�/ � ������%��& ��� �1�1?� #�  �
0 �8�0�� �� '$�(�� #2%�'� �� �%�'����  �� �4� �# k�;$�8# � �$. ���� #� '��$.� �<
�#33��� 4#�$& �< ���% � #��

���1�%� #� ;�# ��$�/ �'�# % �� �� �4� �# 0# #0�$& �� ����'� �'�# ���0# �$& �,
8� 1��'� 3��0�$#����'. % %#�� 2���(# $# �� �8� ;��8��00#��%� #.� �'$�%#� '�%;��� #.
0# #0�$& �� ����'� �'�# ' ���0# �$& �0 1��'�0 �'�& ��'����( �� �'$�%#�0 �;��%$.�0�,
'�# '#'��0�� �'$# 0# #0�$& �. ����'� �'�& ���0# �$& �8� 1��'� '  #0  � '�%;�����! ��
���� #� 2���(# $# �� �8� ;��8��00#��%� #. �;����$.�� ��'�( �,;�'��.  �� �;��%$� #�!
;���%��.?�� ;�(�� ��������#� '#'��0� % 0# #0�$& �- ����'� �'�& ���0# �$& �8� 1��'��

��1��� %�;�$ � � ;�# 3# � '�%�� ;�����/�� ��� �
� A8�� � � +y,jjj,
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